XSDM
BIH AL 1 T S, B 007 HANSAVFLEX

| {3 - -
o1 KSR BT ST <M
BHER 1 BHELF ; ] Low [T
0 2 KEINBL, BT NN
BERR2 20°W8 S L
BHXT  ERAGEERETR A N
EUEX  AEw° i '
PRt DIN 2353 1 o

ISO 8434-1 SLci
BEBE  EECRSHRES NP -0
[ e

RERP BERE

7R
BRRE, FA, EXRFEHNATN TEREN LA BEESATREEENRRER.
&

MR ITHEEHLB Gd2 G

(mm)

XSDM NW 04 HL L PN 250 6 M10x1 14 8 24,0 10,5 12,0 19,0 17 17
XSDM NW 06 HL L PN 250 8 M12x1.5 17 12 30,0 14,0 14,5 21,5 22 19
XSDM NW 08 HL L PN 250 10 M14x1.5 19 12 30,0 14,0 15,5 22,5 22 19
XSDM NW 10 HL L PN 250 12 M16x 1.5 21 12 36,0 16,5 18,0 25,0 27 24
XSDMNW10HL 18 L PN 250 12 M18x 1.5 23 12 38,0 17,0 13,5 25,0 30 27
XSDM NW 13 HL L PN 250 15 M18x 1.5 23 12 39,5 18,5 20,5 27,5 30 27
XSDM NW 16 HL L PN 250 18 M22x1.5 27 14 45,0 21,5 21,0 28,5 32 30
XSDM NW 20 HL L PN 160 22 M26x 1.5 31 16 53,0 24,0 27,5 35,0 41 36
XSDM NW 25 HL L PN 160 28 M 33 x 2 39 18 66,0 30,5 32,0 39,5 50 46
XSDM NW 32 HL L PN 160 35 M42x 2 49 20 76,0 35,5 36,0 46,5 60 55
XSDM NW 40 HL L PN 160 42 M 48 x 2 55 22 87,0 40,5 40,5 51,5 70 60
XSDM NW 03 HS S PN 315 6 M12x15 17 12 30,0 14,0 16,5 23,5 22 19
XSDM NW 04 HS S PN 315 8 M14x15 19 12 30,0 14,0 16,5 23,5 22 19
XSDM NW 06 HS S PN 315 10 M16x 1.5 21 12 36,0 16,5 18,5 26,0 27 24
XSDM NW 08 HS S PN 315 12 M18x 1.5 23 12 39,5 18,5 20,0 27,5 30 27
XSDM NW 10 HS S PN 315 14 M20x 1.5 25 14 43,5 20,0 22,5 30,5 32 30
XSDM NW 13 HS S PN 315 16 M22x15 27 14 45,0 21,5 22,0 30,5 32 30
XSDM NW 16 HS S PN 160 20 M 27 x 2 32 16 53,0 24,0 26,5 37,0 41 36
XSDM NW 20 HS S PN 160 25 M 33 x2 39 18 66,0 30,5 31,5 43,5 50 46
XSDM NW 25 HS S PN 160 30 M 42 x 2 49 20 76,0 35,5 37,0 50,5 60 55
XSDM NW 32 HS S PN 160 38 M 48 x 2 55 22 87,0 40,5 41,5 57,5 70 60
ZHMRILL=FER LB S=E - PN=FIEESN PB=JAIkEN - 0=BEAER

FRER
SDM Bl ReRie iR K H M, AEO0°, 41

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
13.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



